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Question Number : 1 Question Id : 953357178793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct about principles of child development?

Options :

1. Development occurs from central part of the body toward peripheries.

2. Development is not influenced by heredity and environment.

3. Development in one domain doesn't have any influence on development in other domains.

4. Development is purely quantitative and can be measured precisely.

Question Number : 1 Question Id : 953357178793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357178794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Language development among children gets influenced by -

Options :

1. genetics only.

2. environment only.

3. genetics as well as environment.

4. neither genetics nor environment.

Question Number : 2 Question Id : 953357178794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357178795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A progressive classroom -

Options :

1. gives primacy to silent listening only.

2. respects individual differences among learners.

3. is marks - oriented.

4. is based on behaviouristic principles of learning.

Question Number : 3 Question Id : 953357178795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357178796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In Lawrence kohlberg's theory of moral development "Obeying rules to avoid punishment" represents -

Options :

1. Pre- conventional stage

2. Formal operational stage

3. Conventional stage

4. Post conventional stage

Question Number : 4 Question Id : 953357178796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357178797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to facilitate the learning process, a teacher should use strategies which emphasise on :

Options :

1. the progression of concept from complex to simple.

2. the primacy of convergent thinking.

3. exploring the relationships between different concepts.

4. creating competitive culture among students.

Question Number : 5 Question Id : 953357178797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357178798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's theory mainly focuses on explaining :

Options :

1. the impact of heredity on development.

2. the role of cultural tools in cognitive development.

3. the bio ecological model of socialisation.

4. the impact of attribution pattern on motivation.

Question Number : 6 Question Id : 953357178798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357178799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During a discussion on "Cricket", a teacher is posing questions mostly to boys and not to girls. This act of teacher is an example of :
Options :

1. Gender Empowerment

2. Gender bias

3. Gender relevance

4. Gender threat

Question Number : 7 Question Id : 953357178799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357178800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In a child-centered classroom, a teacher gives importance to -
Options :

1. frequent objective type examinations.

2. active knowledge construction process.

3. completion of syllabus in whatever way possible.

4. strict disciplinary practices based on punishment.

Question Number : 8 Question Id : 953357178800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357178801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is primary agent of socialisation for children?

Options :

1. Books and magazines

2. Immediate family

3. Parent's work place

4. Staff at hospital

Question Number : 9 Question Id : 953357178801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTefEs © o FH-9T S==1 3 THTSeR0T T WTIHE FEEF 2

Options :

1 T AN g
, TereTy ufEm|
5 AU = FEwE|

4. QFqE iE %ﬁq"mﬁw

Question Number : 10 Question Id : 953357178802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Concrete operational stage in Jean Piaget's theory of cognitive development corresponds to the age group -

Options :

1. Birth 0 - 2 years



2.2 -7 years
3.7-11 years
4. Above 11 years

Question Number : 10 Question Id : 953357178802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357178803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You are a teacher who believes that "children learn at varied paces and in different ways". In your class, you will plan assessment which :
Options :

1. is same for all students.

2. includes objective type questions only.

3. is not related to how children learn.

4. is based on different methods of assessment.

Question Number : 11 Question Id : 953357178803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357178804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per Lev Vygotsky's theory which of the following is an effective strategy of scaffolding the teaching - learning process?

Options :

1. Providing rigid step-by step instructions to solve problems.

2. Punishing the children for incorrect answers.

3. Giving hints and cues if children are stuck at some point while solving the problem.

4. Complete non- interference of teacher in the process.



Question Number : 12 Question Id : 953357178804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357178805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct about intelligence?

Options :

1. Intelligence can be measured only through Intelligence quotient (IQ) tests.

2. Genetics play no role in creating individual differences in intelligence.

3. High intelligence is one domain ensures high intelligence in other domains also.

4. Intelligence is more than the ability to perform well in school.

Question Number : 13 Question Id : 953357178805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357178806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Seeing a horse, a three year old child exclaimed. "Wow! Such a big dog". As per Jean Piaget's theory of cognitive development , this
response by child is an example of :

Options :

1. assimilation.

2. make-believe.

3. object - permanence.
4. deferred imitation.



Question Number : 14 Question Id : 953357178806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 15 Question Id : 953357178807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lev Vygotsky's ideas Language and thought suggest that -

Options :

1. language guides cognitive development.

2. cognitive development guides language.

3. there is no relation between language and cognition.

4. cognition is independent of language.

Question Number : 15 Question Id : 953357178807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357178808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Creativity among children can be facilitated :

Options :

1. by encouraging exploration.

2. through teacher - centric pedagogy.

3. by drill and repetition.

4. through imitation only.

Question Number : 16 Question Id : 953357178808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 953357178809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Dyscalculia is directly associated with :

Options :

1. locomotor disability.

2. fluency in understanding other's motives.

3. musical ability.

4. difficulty in learning of mathematical concepts.

Question Number : 17 Question Id : 953357178809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357178810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

Right to Education Act (2009) has a provision of Reservation of seats in Privates schools for admission of students from Economically
weaker section (EWS). In order to successfully these students a, a teacher should use pedagogy based on -

Options :

1. discrimination.
2. segregation.

3. equity.

4. equality.

Question Number : 18 Question Id : 953357178810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357178811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In an inclusive classroom, information should be presented in :

Options :

1. textual form only.

2. visual form only.

3. verbal form only.

4. multiple forms.

Question Number : 19 Question Id : 953357178811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357178812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to contemporary polices of Education, which of the following is the most suggested model of schooling for children with
disabilities?

Options :

1. Only vocational education
2. Inclusive education

3. Separate education

4. Integrated Education

Question Number : 20 Question Id : 953357178812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357178813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not correct about the learning process?

Options :

1. Learning is a continuous process.

2. Error and mistakes are irrelevant in the process of learning.

3. Learning is based on personal and environmental factors.

4. Learning takes place in a spiral manner and not in linear manner.

Question Number : 21 Question Id : 953357178813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357178814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Repeatedly telling the child that ' he/she is not capable of learning ' is likely to -

Options :

1. demotivate the child to learn.

2. fasten the pace of learning for child.

3. motivate the child to learn.

4. have no effect on child's learning.

Question Number : 22 Question Id : 953357178814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357178815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Problem - solving skills can be enhanced by :

Options :

1. fixating on conventional use of materials.

2. representing problems in standardised format.

3. considering alternative ways of solution.

4. rote memorisation.

Question Number : 23 Question Id : 953357178815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357178816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To teach a concept to students in primary grades, which of the following sequence of representation of content is most appropriate?
Options :

1. symbols, pictures, concrete materials.

2. pictures, symbols, concrete materials.

3. symbols, concrete materials, pictures.

4. concrete materials, pictures, symbols.

Question Number : 24 Question Id : 953357178816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357178817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Classroom environment has a significant on children's learning. To inculcate a culture of mastery oriented learning (learning that focuses
on understanding) , learning, classroom environment should be :

Options :

1. Performance oriented.

2. competitive and individualistic.
3. teacher dominated.

4. cooperative and collaborative.

Question Number : 25 Question Id : 953357178817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357178818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correct statement in content of learning?

Options :

1. Examination is the ultimate goal of learning.

2. Learning is a passive process and it doesn't require engagement of learners.

3. Emotions have no influence on the process of learning.

4. Learning is a complex process which requires active engagement of learners.

Question Number : 26 Question Id : 953357178818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 953357178819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Socio-Constructivist view of learning emphasise on the importance of in process of learning.

Options :

1. interactions

2. rewards and Punishments

3. heredity only

4. inflexible pedagogical approaches

Question Number : 27 Question Id : 953357178819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357178820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of influencer and source of motivation?

Options :

1. Self - fulfilment — Extrinsic motivation

2. Curiosity — intrinsic motivation

3. Cash prize — intrinsic motivation

4. Interest — extrinsic motivation

Question Number : 28 Question Id : 953357178820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357178821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To facilitate conceptual understanding among students , a teacher should :

Options :

1. encourage students to learn through rote memorisation.

2. not include examples and non-examples in the discussion of concepts.

3. provide opportunities to make connections between what has been presented and what they know already.

4. rely only on lecture method for teaching.

Question Number : 29 Question Id : 953357178821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357178822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following factors influence learning ?

(i) Motivation
(i1) Social content
(iii) Emotions

(iv) Pedagogical approaches
Options :

1. (1),(ii), (iv)

2. (1),(iii), (iv)

3. (ii),(iii)

4. (1),(i1), (iii), (iv)

Question Number : 30 Question Id : 953357178822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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5. (i1), (ii1)

4 (D), (ib), (iii), (iv)
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Question Number : 31 Question Id : 953357178823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The rate list of groceries in a shop are depicted as follows:

Rice (1KG) 370
Black gram (1KG) 290
Wheat Flour (1KG) 45
Coriander powder (250g) 340
Chilli Powder (250g) %60
Salt (1 Pkt) 325
Biscuit (1 Pkt) 320

Ashish needs to buy 5kg of rice, Skg of wheat flour, 250g of coriander powder, 250g of chilli powder, 2kg of black gram
and some packets of biscuit with remaining money. If he is having 1000, how many biscuit packets can be buy?

Options :
1. 8

Question Number : 31 Question Id : 953357178823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 32 Question Id : 953357178824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e |am atwo digit number.
s The digit at ten's place is multiple of 2 and digit at units place is multiple of 3.
¢ The sum of the two digit is a prime number which is a factor of 52.

The number is

Options :

1. 69

5 46
3. 49

4. 83

Question Number : 32 Question Id : 953357178824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. B3

2. 46
3, 43

4. 83

Question Number : 33 Question Id : 953357178825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

The rates of hiring a rental car are as follows:

% 800 per 8hours up to 80 km

% 100 per extra hour and 10 per extra km.

Sunil travels from city A to B which is 250 km. He starts at 7:00 am and reaches at 4:00 pm on the same day
How much money he has to pay?
Options :

1. 2,500

, 2,600
3 X2,700

4 $2,400

Question Number : 33 Question Id : 953357178825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Al o 250 km T IR A § B UG dF (AT 3G Tdp 7:00 I FEAR foham W I I 9 4:00 &= 95 GG AN T Fhc=r
far &= &2

Options :

1. ¥2500

5. %2600
3 %2700

4. 2400

Question Number : 34 Question Id : 953357178826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is at the third place when numbers are arranged in descending order?
9.09, 9.009, 9.990, 9.909, 9.099

Options :
1. 9.990

» 9.099
3 9.909
4 9.090

Question Number : 34 Question Id : 953357178826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HalGT HH A SGaheyd e W He=iolf@d # § Sl-81 §&r dray T 9 g

9.09, 9.005, 9.590, 5.909, 9.059
Options :



1. 9.990
2. 9.099
3. 9.909

4. 5.090

Question Number : 35 Question Id : 953357178827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a four digit number, the digit at hundreds place is 0, the digit at tens place is twice that of units place whereas, the
digit at thousands place is thrice that of units place. If the digit at units place is 2, what is the number?

Options :

1. 4062

5 6024
3. 6042

4 4602

Question Number : 35 Question Id : 953357178827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T IR 3l T T # 1l T W0, SE5 F T T 36 Th5 F WU W HF § I § a9l gad 0 I I 55 &
T W ¥ W T &) S v g

Options :

1. 4062

) 6024
3 6042

4 4602

Question Number : 36 Question Id : 953357178828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The sum of two digit number and the number formed by reversing its digits is equal to 88.
How many of such numbers are there in which tens digit is greater than units digit?
Options :

1.2

Question Number : 36 Question Id : 953357178828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Ueh gf 3eh! drell &A1 H 5 HH &7 Toicsl W d=l S&g1 &7 45T 88 & 06 g §ea’ &, 59 gl & A 5o F FE |
st &7

Options :

Question Number : 37 Question Id : 953357178829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A rectangle of sides 8cm and 10cm is divided into four equal rectangles.
What is the perimeter of each small rectangle?

Options :

1. 36cm

2. 9cm
3. 18cm
4. 20cm

Question Number : 37 Question Id : 953357178829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

8H AL 3N 10{.A. H3 el T I & IR TA Jat # Tdenfeid fHar =r §1 s BIC 3Mad & IRAT =1 gHE?
Options :
1. 36T,
2. 9FAL
3 18 T

4, 20 %A

Question Number : 38 Question Id : 953357178830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true?
Options :
1A prime number when added to another prime number always gives a prime number

5 A prime number when multiplied by another prime number always gives a prime number

3. Prime numbers do not have factors



4 There are infinitely many prime numbers

Question Number : 38 Question Id : 953357178830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

feafof@d @ 4 &la-ar Faa 97 &7

Options :

L Ueh HeATed HEAT # Sid q@ll ooy TEdr Sisr Se, df 6T Udh 3eied §&dn uied ghafh
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Question Number : 39 Question Id : 953357178831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The number which divides 88 and 160 leaving remainders 3 and 7 respectively is:
Options :
1. 13

5 17
3. 21

4 28

Question Number : 39 Question Id : 953357178831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

a5 g fams 28 3 160 = faufeg 39 W 99Ta &9 3 37 7 s, =e &
Options :
1. 18

2. X
3,21

4. 28

Question Number : 40 Question Id : 953357178832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Malini has only %2 and %5 coins with her. If the total number of coins she has is 36 and the amount of money with her
is 105, then the number of X2 and %5 coins with her are:

Options :
1 26 and 10 respectively

5 25 and 11 respectively



3 21 and 15 respectively

4 24 and 12 respectively

Question Number : 40 Question Id : 953357178832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AlfelAT & O &aer 22 3R 5 & GeF §) e 30F o9 [edl &1 For dear 36 AR AfEr 2105 § ar 22 3N 25 & Wl & gen
&

Options :

1. A 26 3R 10

o, WA 25 3R 11
3 S 21 3N 15

4, TEA: 24 3R 12

Question Number : 41 Question Id : 953357178833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Evaluate 14.5%3+18+3-3x12.57
Options :
1. 6

7. 12
3. 56

4 615

Question Number : 41 Question Id : 953357178833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A AT HIfAT:
14,5%3+18%3-3x12.5
Options :

1. 6

2. 12
3, 56

4, 61.5

Question Number : 42 Question Id : 953357178834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

One-sixth of the trees in a garden are jamun trees, half of the trees are Eucalyptus trees and the remaining are peepal
trees.

If the number of jamun trees is 6, how many peepal tree are there in the garden?
Options :



1. 36

3. 18

Question Number : 42 Question Id : 953357178834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U T & Fall A A & Jall § T Uk Seal 89 &, AT g7 gahferaed & R arhr 9ioe & gaT §) g Se & ga o
& 6 B, d anr F die & fhae gar &2

Options :

1. 36

2. 12

Question Number : 43 Question Id : 953357178835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A train leaves Vishakhapatnam, on the 1% September, 2019 at 04:48 hours and reaches its destination on ond
September at 17:37 hours.

The total travel time of the train is

Options :

1. 30 hours 37 minutes

> 36 hours 37 minutes
3. 36 hours 49 minutes
4. 38 hours 12 minutes

Question Number : 43 Question Id : 953357178835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U Yeremsl faurEesd F 1 faaFat 2019 & Gap 04:48 ds WU Al § IR 39 Ideg W 2 FdFaR & 17:37 &1 95l &l
S Xeans! AT H Hol TAT o

Options :
1. 30 §& 37 W&=c

7 36 9¢ 37 AT
3. 36 ©¢ 49 fAae

4, 38 G9¢ 12 =T



Question Number : 44 Question Id : 953357178836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which of the following have the lengths been arranged in increasing order?
Options :
1 5500 cm 50 mm, 500 dm 30cm, 55000 mm, 50 m

2 50 m, 5500 cm 50 mm, 55000 mm, 500 dm 30 cm
3 55000 mm, 500 dm 30 c¢cm, 5500 cm 50 mm, 50 m

4 50 m, 500 dm 30 c¢m, 55000 mm, 5500cm 50 mm

Question Number : 44 Question Id : 953357178836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TrTad # § ®I9-90 dasdl & dog &7 # tgareyd fhar = §7
Options :
1. 5500 &.#I. 50 mm, 500 dm 30 &AL, 55000 mm, 50 m

5 90m, 5500 F.#A. 50 mm, 55000 mm, 500 dm 30 .4
3 55000 mm, 500dm 30 ¥.#1., 5500 &AL, 50 mm, 50 m

4 50m, 500dm 30 %A, 55000 mm, 55003, 50 mm

Question Number : 45 Question Id : 953357178837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 270cm long wire is formed into a rectangle. If the width of this rectangle is 50cm, what is its length?
Options :
1. 60 cm

2. 75cm
3. 85cm
4. 90 cm

Question Number : 45 Question Id : 953357178837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ueh 270 QAL odl AR & Uk AT & w9 fdar I/ 5 3l 59 3ad & diss so @A B a1 sHdl dars a1 g
Options :
1. 60 ¥AL
5. 7STAT.

3. 8594



4, S0 WAL

Question Number : 46 Question Id : 953357178838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

When asked to write 35, some students of grade Il wrote as 305. As a teacher, how will you address this problem
Options :
1 By telling them that it is wrong and asking them to find correct answer

5 By writing the correct answer on the black board
3 By asking them to write correct answer ten times in their notebooks

4 By explaining the principle of exchange through concrete material

Question Number : 46 Question Id : 953357178838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

war 11 & @mEt & 35 ©Es & WU & 7 af B 305 T deaeE & w9 F HT sua F gheg w7
Options :
| T a1 &R & T TTerd § IR 3v6 Tel Iook Iod e F o0 g

). WHAYE W HEl 3ok folg ol
3. 3T HOT FT A g¥ aN §el 3ol fows & fore g

, 30 0 ol @ fafeea faes e &0

Question Number : 47 Question Id : 953357178839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which aspect/aspects of mapping are present in the primary mathematics curriculum?

(A) Map interpretation

(B) Unscaled drawing

(C) Using symboils

(D) Drawing as per scale

Options :

1. ACD

5 ABC
5 BCD
4 ABD

Question Number : 47 Question Id : 953357178839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



AT & Ufds deded # widfE=oT (@f=n & $id § g fdegae &2
(8) AT T TS

(8) To=r AT arer e

(C) Hehal (Toilehl) & TIHET

(D) YH=T & AR FTer@ WA=

Options :
1. ACD

2 ABC
3 B,C,D

4 GDA

Question Number : 48 Question Id : 953357178840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following topics are not part of the primary school Mathematics curriculum as per NCF 20057
Options :
1. Integers

> Tessellations
3. Estimation

4. Symmetry

Question Number : 48 Question Id : 953357178840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TSR UEaEdl FOU@r 2005 & HuR Feefdd & & sl § Gun oruf@s Gegedt § afvia sasH &1 80 761 5
Options :
1 o

o, HIs (ersferam)

5 HA T

4%@%

Question Number : 49 Question Id : 953357178841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Beads can be used to explain which of the following concepts?
Options :
1 Number sense, fractions, patterns

5 Fractions, place value, volume

3. Number sense, patterns, volume



4 Number sense, tessellations place value

Question Number : 49 Question Id : 953357178841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AR & 9A9T Frafaf@a # § & 3aumonsT & g8 & e & 51 9 &2

Options :

| W d, e, ot

o T8, T A, ST
3 TEAT 9, giEd, JEaE

4, TET g, dius (ergfer), TRy A

Question Number : 50 Question Id : 953357178842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is/are true? Boys are better than girls in problem solving

(B) Children coming from rural background find mathematics difficult-

(C) Teacher's beliefs impact learner's performance in mathematics

Options :

1. A

4 AandB

Question Number : 50 Question Id : 953357178842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rrfafad # ¢ 3 T/ FU T8 8

(A) THTAT TATENS H W56, dsiehdl O HATH® 999 §

(B) FHTUT TSSHFRA F 3T aTer Il &l AT FHioT oRam 5

() 3 & faORT &1 3R aIftT di@er aret & ygele o¥ g Bl

Options :

1. A

4 AFRE

Question Number : 51 Question Id : 953357178843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is most appropriate strategy to teach data collection and interpretation to primary class
students.

Options :

1. Providing lot of practise questions

2 Asking students to conduct survey
3. Conducting quiz in classroom

4 Conducting group discussion in class

Question Number : 51 Question Id : 953357178843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

orfHe Fal & et #1 Esl & TIT AN Ui dee & v BEafefEa & ¥ s @ g9 307
Options :
|, 3 & foIT & G 9 3TeleE T
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Question Number : 52 Question Id : 953357178844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student tells that the shape of a samosa in triangle. He is at which stage of geometrical thinking as per Van Hiele's
level

Options :

1. Visualization

5 Analysis
3. Establishing Relationship

4. Axiomatics

Question Number : 52 Question Id : 953357178844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

U faeanedt F5dr & o TR &1 HRER TS SN B 98 SEnfedr @deer 7 341 gier (van Hiele) % IR T TR W &7
Options :
1. 0




Question Number : 53 Question Id : 953357178845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following may be considered a feature of a constructivist mathematics classroom?
Options :
; Memorizations of mathematical definitions is accorded high value

5 The teacher focuses only on the right answers
3. Students’ errors are considered an important source of information

4 Interaction among students is discouraged

Question Number : 53 Question Id : 953357178845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frafeida # & B8 SgcAs (TTaE)) ATUIT HaTl &l oaTul Al AT Hehell 67
Options :
|, OIS oSt S ST S F 3Td A &

o 3EAGH T el el Ieall B Higd HeT

3 faeanfil carr &1 a5 Fedl F A F Apcaql TAd FHFA

y, Tacanfdat # uReaRe st & oo #Re

Question Number : 54 Question Id : 953357178846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true in the context of nature of mathematics?
Options :
1 Mathematics involves study of patterns and relationships

2 Mathematics is limited to study of numbers

3. Mathematics involves abstraction and visualisation

4. Mathematics connects to the real world

Question Number : 54 Question Id : 953357178846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT F sy F Y A @ d sl ar gl s &
Options :
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Question Number : 55 Question Id : 953357178847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following may NOT be associated with the development of special understanding among children?
Options :
1 Calculating the distance between different cities on the map of India.

2 Imaging what a piece of paper would look like if it is folded along given lines.
3 Giving directions to reach their house from the school.

4 Matching the top-view of a pencil with its side view.

Question Number : 55 Question Id : 953357178847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

feaferf@a # & @ e & fifaw (Ravue) w0 & G & & v daad: suged 78 &2

Options :
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Question Number : 56 Question Id : 953357178848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct in the context of teaching area- measurement of plane figures?
Options :
1. Students should be given a chance to 'discover' the various formulae

5 Use of formula for area-measurement should be taught before estimation of areas
3 Grid paper can be a useful device for introducing and implementing the formal units of measurement

4. Tessellations with regular shapes can be useful for teaching area-measurement

Question Number : 56 Question Id : 953357178848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT FPIAA! & &G H AN & Toal & HEAeidd # F Hi G U G617 o7
Options :
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Question Number : 57 Question Id : 953357178849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identify the open-ended question from among the following.
Options :

The volume of a cardboard box is 480m?3. If its length and breadth area 10m and 8m respectively, What would its
1 height be?

2.
The breadth of cardboard box is four-fifths of its length and the height is three-fourths of its breadth. If the volume of

the box is 480m?3, find its length, breadth and height

3. The area of a rectangular field is given to be 480m2, What can its length and breadth be?

4 How many rectangular plots of area 480m? can be accommodated in a larger field of area 3360m<?

Question Number : 57 Question Id : 953357178849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fAF=tieli@d # & #Hod Y arel gea &l UEen=C:
Options :
| U e & fSsa @ A 480m* ¥ ATE s ol 3R Htst$ @A 10m 3R 8m B, 1 s TS a4 gy

UE A & e Y ders s ofars § 2§ AR Fand, die & g §) o B @ smawa 480m® 8, A suAT waS,
, s it S e S

3 U HRAER Wd & &Ehe 480m? &1 $UA wiars AR DS 1 &1 Tehcll 67
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Question Number : 58 Question Id : 953357178850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT correct in the context of hierarchy of Mathematical concepts?
Options :
1. Multiplication builds on the concept of addition

5 Division builds on the concept of subtraction

3 Integers build on the concept of natural numbers



4 Fractions build on the concept of decimals

Question Number : 58 Question Id : 953357178850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

g & HIURUIST & dewiag Hea A Fefaf@a # & 9 a1 wue w96 a6 8

Options :
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Question Number : 59 Question Id : 953357178851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

|dentify a desirable practice for teaching fractions at primary level
Options :
1 Everyday conceptions of fraction should not be allowed to interfere with classroom teaching

5 Only halves and quarters should be introduced at primary level
3. The concept of fractions should be demonstrated in multiple situations

4. Numerator and denominator should be emphasised as separate numbers

Question Number : 59 Question Id : 953357178851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

uffAs T W 8l & tg= & v aie=g e i gganfay|
Options :
| ToeT & ufafe & 3EuRomT #1, Fam & 9oy # EaarT ol gl e
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Question Number : 60 Question Id : 953357178852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT desirable with regard to assessment in mathematics at primary level?
Options :
1 Emphasis should be on assessing conceptual understanding



> Aunigue test pattern should be consistently followed

3. Assessment should be sensitive to the context of students

4. Itisimportant to challenge all children according to their mathematical taste

Question Number : 60 Question Id : 953357178852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

UEHE T W AT F Feed § g #§ Srateds § ¥ & aoaT 78 8
Options :
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Question Number : 61 Question Id : 953357178853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which one of the following parts of our country most of the people grow tapioca and coconut in their own courtyard and using these
they prepare their tasty food?

Options :

1. Kerala

2. Goa

3. Assam

4. Andhra Pradesh

Question Number : 61 Question Id : 953357178853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :




4, FTH T

Question Number : 62 Question Id : 953357178854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The name of a particular species of birds whose male bird makes many beautiful nests and the female bird selects one nest to lay her eggs
is

Options :

1. Indian Robin

2. Sunbird

3. Tailor bird

4. Weaver bird

Question Number : 62 Question Id : 953357178854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

aferat it 3 st w1 AT 2 o T ast o g T s § ST e usft 39 § S v e g
F ot say sve ee 2
Options :

-
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Question Number : 63 Question Id : 953357178855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Your house is located at X and your father's shop is located at Y. Although your father's shop is just opposite but you cannot go straight
because of a deep canal in between, therefore, you first go 200m due south, then 150m long bridge which is due east and finally reach at
your father's shop which is 200m due north. With respect to Y, the minimum distance of your house and it's direction respectively are:

Options :

1. 150 m due west
2. 150 m due east

3. 350 m due west
4. 550 m south-west

Question Number : 63 Question Id : 953357178855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST = X W e # ofR e fuarsht it g y w Rum 2 Faft s framsh ft e S e twg e
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Options :

L 150 m 3w ufzm |

, 150 Illael‘on"qﬁﬁ

; 350 mFAEE T

4 550 m 31 oty 5

Question Number : 64 Question Id : 953357178856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A doctor has suggested to a person to eat daily the green leafy vegetables, amla and jaggery (Gur) along with medicines. This person must
be patient who is suffering from

Options :
1. Anaemia
2. fever

3. malaria
4. typhoid

Question Number : 64 Question Id : 953357178856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 953357178857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bronze is an alloy whose main constituents are

Options :

1. lead and tin

2. copper and tin

3. copper and zinc

4. Aluminium, copper and tin

Question Number : 65 Question Id : 953357178857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 953357178858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the following statements about the world famous pashmina.

(A) A pashmina showl is as warm as six sweaters.
(B) The goats from which the soft pashmina wool is collected are found on very high mountains of 5000 m.
(C) A coat of warm hair grows on the goat's body which protects it from extreme cold.

(D) The fine hair after cutting from the goat’s body are woven on machines.

The correct statement(s) is/are
Options :

1.only B

2.only D

3.A,Cand D

4. A,Band C

Question Number : 66 Question Id : 953357178858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 953357178859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which year a thousand people died in the earthquake that struck in Bhuj (Gujarat)?

Options :

1.2000

2.2001

3.2002

4.2004

Question Number : 67 Question Id : 953357178859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 2000

5 2001
3 2002

4 2004

Question Number : 68 Question Id : 953357178860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

With respect to the location of the capital of our country, the capital of the Himachal Pradesh (Shimla) and the capital of the Madhya
Pradesh (Bhopal) are located (respectively) in the

Options :

1. north and south

2. south-east and north-west

3. south-west and north-west
4. north-east and north-west

Question Number : 68 Question Id : 953357178860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357178861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A person living in Shimla (Himachal Pradesh) wants to first visit Bhopal (Madhya Pradesh) and then Gandhinagar (Gujarat). The direction
of his journey will be first towards



Options :

1. south east and then towards west
2. south west and then towards east
3. south and then towards west

4. south and then towards east

Question Number : 69 Question Id : 953357178861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357178862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The state/Union Territory of our country which has a coast on the Arabian Sea is

Options :

1. Andhra Pradesh

2. Karnataka

3. Puducherry

4. West Bengal

Question Number : 70 Question Id : 953357178862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357178863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A special kind of dance named 'Cheraw' is performed by the people of

Options :

1. Assam



2. Mizoram
3. Odisha
4. Jharkhand

Question Number : 71 Question Id : 953357178863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :

Question Number : 72 Question Id : 953357178864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

On the map of India, if you draw a straight line AB from Kolkata (capital of West Bengal which is point A) to Puducherry (which is point
B), then the direction of the point A with respect to the point B would be

Options :

1. due south
2. due west
3. south west
4. north-east

Question Number : 72 Question Id : 953357178864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 953357178865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Name the female athlete who started weight lifting at the age of 12 years, succeeded in lifting weight of 130 kg and won 29 medals in
international events

Options :

1. Sunita Williams
2. Wahida Prism
3. Bachhendri Pal



4. Karnam Malleshwari

Question Number : 73 Question Id : 953357178865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357178866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A tourist boarded a train on 10! November 2021 from Ernakulam Town to Vadodara. The train departed from Ernakulam Town at 22:40

hours and reached Vadodara at 14:10 hours on 12" November 2021. If the distance between the railway stations of the two cities is 1896
km, the average speed of the trains during the journey of the tourist was

Options :

1. 96 km/h
2.72 km/h
3. 48 km/h
4.36 km/h

Question Number : 74 Question Id : 953357178866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1. 96 km/hr

5 72 kiv/hr
3 48 km/hr

4. 36 km/hr

Question Number : 75 Question Id : 953357178867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A group of spices whose every member is grown in Kerala is

Options :

1. Black pepper, turmeric, tejpatta

2. Tejpatta, black pepper, cardamom

3. Zeera (cumin seed), red-chilli, tejpatta



4. Zeera (cumin seed), black pepper, cardamom

Question Number : 75 Question Id : 953357178867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357178868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In relation to EVS, the child looks at his environment

Options :

1. into its segregated form.

2. in a holistic manner.

3. in its simple form.

4. into its theme form.

Question Number : 76 Question Id : 953357178868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 953357178869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Curriculum of EVS has been designed

Options :

1. on topics.

2. on syllabus

3. on themes

4. on topics and syllabus both

Question Number : 77 Question Id : 953357178869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357178870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

NCF-2005 views EVS in classes III to V as a subject which integrates the concepts and issues of

Options :

1. science and social science

2. science, social science, language and mathematics

3. science, social science and environmental education

4. science, social science and languages

Question Number : 78 Question Id : 953357178870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357178871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following challenge/s may be faced by the EVS teacher in his/her EVS class?

A. Multicultural dimensions of his/her class
B. Feeling of each and every student
C. Everyone's community, culture and way of life

D. Class room discipline and it's management
Options :

1. A and D only

2. B and D only



3. Cand D only
4. A, B and C only

Question Number : 79 Question Id : 953357178871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357178872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate objective of teaching EVS at primary stage is to

Options :

1. develop descriptions and definitions of the various concepts of EVS

2. provide lot of space to students to explore his/her environment

3. facilitate students to learn the concepts of EVS

4. encourage students to learn EVS through concrete informations shared by the teacher

Question Number : 80 Question Id : 953357178872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357178873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Family and friends in EVS curriculum is

Options :

1. theme



2. subtheme
3. topic
4. syllabus

Question Number : 81 Question Id : 953357178873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357178874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Meaningful EVS learning can only be made possible if

Options :

1. student's local experiences are related to school experiences.

2. school knowledge is used in the construction of knowledge

3. student's local experiences are not given due importance

4. trained EVS teacher's experiences are used.

Question Number : 82 Question Id : 953357178874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357178875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the learning of EVS, activities conducted by the teachers should be followed by for authentic and meaningful learning.
Options :

1. discussion

2. listing of activities

3. learning the steps of activities

4. recapitulation of the activities



Question Number : 83 Question Id : 953357178875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357178876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Learning through group activities is performed in EVS classes because

Options :

1. it provides peer learning

2. it improves social interactions among students

3. it provides and improves peers and social learning among students

4. students only demand group learning

Question Number : 84 Question Id : 953357178876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357178877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following indicates skills process in learning of EVS?

Options :

1. classification

2. description

3. statement

4. recall

Question Number : 85 Question Id : 953357178877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 86 Question Id : 953357178878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most appropriate objective of promoting parent's and community's participation in the learning of EVS by students is to

Options :

1. provide an opportunity to teachers to know the student's socio-cultural background.

2. follow the recommendation of national policies.

3. maintain discipline in the school.

4. know the students and guide them in the learning of students.

Question Number : 86 Question Id : 953357178878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357178879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The challenges and issues in EVS class at primary level can be very well addressed by

Options :

1. lecture and discussion

2. free debate

3. lecture and demonstration

4. debate followed by discussion

Question Number : 87 Question Id : 953357178879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357178880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Qualitative assessment of children's learning in EVS can be done by

A. Record of children's ideas, observation reports
B. Observation of process skills
C. Paper-Pencil tests

D. Achievement tests
Options :

1. A and B only

2. Cand D only

3. A, B and D only
4. A, B and C only

Question Number : 88 Question Id : 953357178880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357178881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is a formative assessment tool in EVS?

A. Portfolio
B. Anecdotal record

C. Rating scale



D. Observation and recording
Options :

1.A,B&C

2.A,B&D

3.A,C,&D

4.A,B,C&D

Question Number : 89 Question Id : 953357178881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 953357178882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

“Drawing pictures of animals using fingers and thumb prints”
X

In the above line, identify (X) and (Y).

(A) Xis verb and Y is noun

(B) X is action verb and Y is content

(C) X is cognitive process and Y is content

(D) X is content and Y is verb.

Options :

1.B, Cand D.
2.A,Band C
3.B,Cand D
4.A,Cand D

Question Number : 90 Question Id : 953357178882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Sub questions

Question Number : 91 Question Id : 953357178884 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TEATR T FAFTIF 168 A5 2
(i) ¥ER
(i) <a
(iii) Fg=w
(iv) WeIF
Options :
1.1
2.2

3.3
4.4

Question Number : 92 Question Id : 953357178885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

Question Number : 93 Question Id : 953357178886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 953357178887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

maﬁmwga%ww%?
(i) S FE
(i) TEAT
(iii) =TT g%
(iv) TTETHT 9 27 TieT
Options :
1.1
2.2
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Question Number : 95 Question Id : 953357178888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :
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Options :



1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357178889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 97 Question Id : 953357178890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357178891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357178892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Questions : No
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TETe Tt S S IETey % o7t iatee ot SR AT o ST (e WS |
THF AT HETEd, YT (RS 3 STIIeT SHEIRLS, S TG § oot STt e s
fafee st TTeTera 2 3T T o 37T 37 UL SR 21T (Sl A T o IR AR
BT T AT T o - T T R o S e, W S TS, e | we
frfesT TmmemR_uat ot WUt} 1 STUATE Ser i IS T S0 o7 wE W
feriferat o @y +ft T-0d Sea et 5 & 360 o ATt o foee I foae e it
TTTeft St ot AT 5 T TN = ot Hereat A ety o of o aw-faee w
THTER TAT 3ht ST 5 SR Tel-§iea THr=m w o ofte ot st w9 o TS A
TR AT 547 et o

TTefitt 3 ur T = e Ao faemeff srawen & weree 3 e % ergEe e
o SRt i off| Tl aTE 3 T SR | S U WY I Ug O] S | STEEETEE
T FhTera Wi ATy € YT S off| 9 U H SR O T e S S W e
AT BT 2| Tfeed 3 WEHT o W1 61 FIE Hae T8 w@al| S 39 a1 3 ar 36
T T, IA=5 A1 % Weed i SAEA1-GeAe1 I o (a2 on| T=rerivra =
AT A T T TR F e Ferard At e Antea, IR aeg o Rt
AT TS 30 FH il I AT et i o 2

Sub questions

Question Number : 91 Question Id : 953357178884 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TEATF T THFTLF 62 Tal 2
(iy €%
(i) <=
(iii) FeFeAH
(iv) WHATE
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 953357178885 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST e = A= B
(iy =FEw

(ii) TR
(iii) =TSR
(iv) W

Options :

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 953357178886 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

fererur_faeres =1 semE 2-
(i)  TTEeT-aiE
(i) HEfre T
(iii) TIRR
(iv) wTESF AT
Options :
1.1
2.2

3.3
4.4

Question Number : 94 Question Id : 953357178887 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST T T e o 4 2
(i) ST HEe
(i) e
(iii) TTH=THT 9
(iv) TTHATHT O 2T T

Options :

1.1
2.2



3.3
4.4

Question Number : 95 Question Id : 953357178888 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HTAM-FIT T 1 AT ST ST T 3t 1T
AR T =t 2
(iy FEHOTH
(i) TETH
(iii) wEfm T E
(iv) ="
Options :
1.1
2.2

3.3
4.4

Question Number : 96 Question Id : 953357178889 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR Ger 3 ST fo A1 W e sife wa
Y,

(i) =

(i) T

(111) TMH

(iv) T

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357178890 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TIATH! G4 3 ST 36 o0, T
(i)  #Tieh ST 2|
(ii)  *TTHeR AT F GEwF ATHAF 2
(iii) v =T
(iv) 37! ug= fatfg o 2
Options :
1.1
2.2

3.3
4.4

Question Number : 98 Question Id : 953357178891 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



AT T % SATATET T T T AT @R FET
7,
(i) T
(i) =pETET
(iii) T AT
(iv) e
Options :
1.1
2.2

3.3
4.4

Question Number : 99 Question Id : 953357178892 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

éﬁ%mmﬁmﬁ%mdmwwﬂ'ﬂaﬁwww%?
(i) mﬂaﬁvmgsﬁraﬂmﬁw
(ii) =TT
(iii) tmflﬁr
(iv) THATHT
Options :
1.1
2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 95335710749
Question Shuffling Allowed : Yes

Question Id : 953357178893 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension



Frefefiaa T i Uee 00 0 4T o Fa S0 3% a1 forehed i T :

1 Uer § F 7o

G 1 W o D | B 1

Fft 77t form 2 ot

57 1S T |

ST 3 ST 1 ST S
T =Rt =TT o W et

AR e F Y

T3 1 AT A e |
HEh! T L

= & TS St @ S|

T3 o1 e o SR T U AT & S
T8 T T W IAT IBT U TE
AT AT 3h1 76T T 0T H

T+t % T g ot € 3

et getere o6 F et o e

FrgTeTE

T 71 % TG 9 I qe (oA o St/
T

FEAITH

TR Ui uT= Tl o STESE H e 0% T....

Sub questions

Question Number : 100 Question Id : 953357178894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



'IrT:l"ElT-l' E‘IFG'%-
(i) *e9q

(il) =g
(iii) ZTer
(iv) ECE]

Options :

1.1

2.2

3.3
4.4

Question Number : 101 Question Id : 953357178895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SR e T A= T Y

(i) FmEE
(ii) Eror=E

e 1 Lo
(iii) BT+
. =, [
(1\-") giu T+ AT
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357178896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TET =TT o T A R
(1) o= afear 0 ot
(i)  OT=TE 297 T THFATT
(iil) =TSt ST o6 =
(iv) U= =2 9

Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 953357178897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2
(i) F%
(i) @
(iii) =AgegTET
(iv) o=

Options :



1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357178898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

a7 S 2 T F 3 e
(i) o= uies
(i) e
(iil) FrodT
(iv) e SR EaeE
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357178899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Wﬁmﬁﬁ%wﬁﬁﬁmmm%

(1) 9=
(11) T‘@‘
(111) TTES
(iv) =R

Options :

1.1

2.2

3.3

4.4

Question Id : 953357178893 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)
Question Label : Comprehension



Frefefiaa T i Uee 00 0 4T o Fa S0 3% a1 forehed i T :

1 Uer § F 7o

G 1 W o D | B 1

Fft 77t form 2 ot

57 1S T |

ST 3 ST 1 ST S
T =Rt =TT o W et

AR e F Y

T3 1 AT A e |
HEh! T L

= & TS St @ S|

T3 o1 e o SR T U AT & S
T8 T T W IAT IBT U TE
AT AT 3h1 76T T 0T H

T+t % T g ot € 3

et getere o6 F et o e

FrgTeTE

T 71 % TG 9 I qe (oA o St/
T

FEAITH

TR Ui uT= Tl o STESE H e 0% T....

Sub questions

Question Number : 100 Question Id : 953357178894 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



'IrT:l"ElT-l' E‘IFG'%-
(i) *e9q

(il) =g
(iii) ZTer
(iv) ECE]

Options :

1.1

2.2

3.3
4.4

Question Number : 101 Question Id : 953357178895 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

SR e T A= T Y

(i) FmEE
(ii) Eror=E

e “ L}
(iii) BT+
. =, [
(1\-") giu T+ AT
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 953357178896 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TET =TT o T A R
(1) o= afear 0 ot
(i)  OT=TE 297 T THFATT
(iil) =TSt ST o6 =
(iv) U= =2 9

Options :

1.1

2.2

3.3
4.4

Question Number : 103 Question Id : 953357178897 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

2
(i) F%
(i) @
(iii) =AgegTET
(iv) o=

Options :



1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357178898 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

a7 S 2 T F 3 e
(i) UETUES
(i) e
(iil) FrodT
(iv) e SR EaeE
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357178899 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T F JUTET FTUET 3 TTaral shi 1 ] e 27

(i) 9=
(11) T‘@‘
(11) 9Ed
(iv) =ATw
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 3
Sub-Section Id : 95335710750
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357178900 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T = 3 TSt gRT AT B B-
(1)  TSehT TTsTT 9=k g7 &8 STt 2
(ii) TSRt FIAT F==1T BT TS ST 2
(iii) S o few, <3<l 2t 2
(iv) it aTeamaeRt  foqo svdaut et 2

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 953357178900 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

it o= o TiATaTeET AT AT B 2
(i) TSt arsmT Saw=F 31T &18 et 2
(i)  Toeht Fr= o==t gy =9TE S
(iii) S s 3 forw, ared et 2
(iv) T STEATUER o foAw avelyut et 2

Options :

1.1

2.2

3.3
4.4

Question Number : 107 Question Id : 953357178901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ST T O FoRwi Tifertarres 1 et @ 3 foAm STqaeT feam St =ien-
(i) ===t st = T WIS 37 A1 AT A
(ii) BT o7 T ST H
(iii) FaEEHram T fra g
(iv) ToTerss st W97 A7 SN & AT H

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357178901 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT T T TR Tiferarer a1 et @ 3 o Sras fean st =nen-
(i) === ot = T WIS 3 AT AT
(i) FEFamTIT TS
(iii) TaaemHawmar s Fr wmwr g
(iv) ToTeres 3t W91 A1 ST & AT |

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357178902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



fefefag s Faed I v fTesu st 78 22
e, e g 7 F a0 & oy w==
(i)  ¥Tea UF ST W= @ B
(ii) =TT ST oTETE T B
(iii) Tererag % wTem & ST Hied
(iv) 3Te% HUaT 75T o
Options :
1.1
2.2

3.3
4.4

Question Number : 108 Question Id : 953357178902 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FrTerftas 9= & ey § #1997 fa5e0 981 781 27
Figar, Ta T sT I a0+ 2 e a=r
(i) To% Vg 9T W1 2 B
(i)  I==IOT T 3TTH 0 B
(iii) oo & AT== W ST S
(iv) o8 HUeT TET B
Options :
1.1
2.2

3.3
4.4

Question Number : 109 Question Id : 953357178903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

51T ST =T TR AT B FAT B
(i) =% T % 3 To7m, T35 wer & =19 TS =67 29" S99 % 2|
(ii) T a1 =T o Tor for ar==t o Wi & el T ST T B
(iii) aﬁﬁﬂmwmaﬁﬂmﬁﬁﬂmmmwaﬁmaﬂﬂwt F fam
(iv) === ol 0 TEAS! | JoAT L o o0

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357178903 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T31a7F ST ST TR AT B/ FAT B-
(1) =& 19 2 3 To70 T35 et F 1 9T 307 /WA SUATT & 2
(ii) == AT o7 % Tore for o=t o e § el w ST T B
(iii) == ol IR T & SATATH o [0 FEEaT 98 o %@q\lmlwﬁ%%m
(iv) === % S5 TSl & T i & o)

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357178904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TEaTeft === =7 &1 TN ST ST = TRl § AT S W W UE W6 3 9TeaT 1 E S &, e £
(i) ¥a- FgerT
(i) woha- fafee
(iii) =TT
(iv) Se&aT &R

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357178904 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
= 5 =, = > h' ) iy i oS
TaarTsT s =1 1 AT ST ST S TR W AT R S99 0T U5 ST 3 S16a1 1 WA A €, FeeArdl o-
. LinN
(1) Hehd - "gaeiH 1
v L [
(i) Tha- Tofee e
(iii) STEWTSaT
(iv) Tear &=

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357178905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=1 0 TorE ot ST AT AT et T, ST i €, 3 e weer -
(i) T
(i) g e/ FpfemT
(i) Temga
(iv) = ST
Options :
1.1



2.2
3.3
4.4

Question Number : 111 Question Id : 953357178905 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=1 0 Torer ot ST AT AT et T, ST i €, 7 e e -
(i) Temrery
(i) =R Fe FrfesT
(i) Tomgm
(iv) == I
Options :
1.1
2.2

3.3
4.4

Question Number : 112 Question Id : 953357178906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

frAfeaftaa § § S 19-91 U F 19T a==1 31 3701 250 2@ T 8a 01 ¥ SeEaT F-
(i) TR ULl = SAHT
(i) FoTEH A

(iii) =iferat 3mT
(iv) = 5 o9 T
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357178906 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTeTEgs & o S 9-97 U5 FIITeT 51 Tl 3T 557 7@ [SFET F § FErEaT F0T-
(i)  A==F T FULT B HATT
(i) FoTEH A

(i) et s3m
(iv) T = o= o
Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357178907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Treferfiaa & & Fi-a1 ¥7eT i g F o % o F e qeeagu 27
(i)  Torr srafifae va ame foFe o o a7t 5o O WTST 1 99EE J 998 Fd 2
(i) o Teramell G AU TH-UTH 1 @, WA S HEEE AT, i HA § wera F 2
(ili) ST==IT AT g HILHAT fahiad id 7
(iv) Torm o= are e v & wem va Hiedary i aueT w9 B
Options :
1.1
2.2

3.3
4.4

Question Number : 113 Question Id : 953357178907 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
FeAfeARad 5 | -9 HIST i Tee o =731 3 a1 5 96 qeeaqu @7
(i) Tor ruffas va ome o ST wee aTet Sawl § N7 R FEe I 99 A B
(i) Tor Favemeff G0 <709 STT-OTR AT S, AT AW AEq A, F A J wwar w1
(iii) === o1 97 WA faemtae e 2|
(iv) T s e A foreres 7 e v Wiy S wEA F 2
Options :
1.1
2.2

3.3
4.4

Question Number : 114 Question Id : 953357178908 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(i)  wTfecs &t aaEar
(ii)  TST % =T 1
(iil) SraT Free
(iv) TeaTeqs SieTe
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357178908 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

(i) e it T Ey
(ii)  TST % =t 1
(i) ST Free

(iv) TIeaTese e

Options :
1.1



2.2
3.3
4.4

Question Number : 115 Question Id : 953357178909 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T AT ST T F SARYT AT R YT I8 HIT S0 § 3% 56 0 § (9 ag 2t 2 99 e S
w1 7% FUT e FEr

(i) & fmw

(i) ===

(i) = ST

(iv) SFwE

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357178909 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T AT S Y ¥ IIEUT BT 2 FYT I8 oIS §=41 § 3% 39 a0 § aweg vt & o I o s
FE TE T o TR

(i) o TE =

(i) T =e=h

(i) = FERTIeEh!

(iv) SFwE=

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357178910 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TTET BT § ST UG % a1 § HeteRad § | HiA-51 U 98 A8 27
(i) ST T ¥ wY & T
(i) ¥ o STTET ST 3 WA (7 Fam
(iil) STEATaeR S H T 3 FEE ST S 3 STFET 2T
(iv) 3o =t oo T STVaTE FTeh ST ||

Options :

1.1

2.2

3.3
4.4

Question Number : 116 Question Id : 953357178910 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



THTET B9 § ST UG % a1 § HeTeRad § | HA-91 U T8 A8 27
(i) STt T B A F
(i) TEHT % SATAT ST 6 TTHRTER a0 ST
(iil) STEATaeR S H FEIE0 3% THE I 0 3 STFEL 2T
(iv) TH=mT =T T3aR T STVITE TR ST | g

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357178911 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

freaferfiaa = & for W |eaT 235 i  Frerat St =y
(i) At faee Heeft ST v vareaT
(il) 399 TTeaTaet! Ug uiqee ue=
(iii) STTT= AT T 97T AT AT
(iv) T[S R e e Hee T

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357178911 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TrATerEa 5 § T T HEaT St A J FEeal e A
(i) et fagm e ST ve AT
(il) T STeaTaeT Ue UiaHE vE=e
(i) TUTIF AT TS 79T T FHH
(iv) &A1 vE A faF St w9

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357178912 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

forar 7 wra T i whra w waTET 21 3 o aERT () A A R B
(i) @
(ii)
(iii) FETE STt
(iv) OSOT SR
Options :
1.1



2.2
3.3
4.4

Question Number : 118 Question Id : 953357178912 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ToTeqT 3 ATHT SATEATR T AT F TG 3 T AT GEAT (IR F IR FA ..o FEATAT R
(i) @
(i) SATELET
(i) T TrTE
(iv) ESor ST
Options :
1.1
2.2

3.3
4.4

Question Number : 119 Question Id : 953357178913 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tt & 3Ty 3 TTReTe o ToTT SU=iTT AT ST STofT TR ITaT ATTE TS TaRT 3 S &)
(i) ®fe=a
(i) = T
(iii) STTE 47 Faregd w=
(iv) oF9 Teror oot
Options :
1.1
2.2

3.3
4.4

Question Number : 119 Question Id : 953357178913 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Toremtefat & 17Ty 3 TTeheTe o ToTT SU=iT AT ST STofT TR ITaT STTE TS TaRT 3 S &)
(i) =fo=m
(i) S=EE
(iii) <ATE =7 Fared w=
(iv) oFe Tererior Tmot
Options :
1.1
2.2

3.3
4.4

Question Number : 120 Question Id : 953357178914 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



TR STATE fafer ST ae T B
() TEAw
(i) TEEEW
(i) STTHAT T
(iv) TR

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357178914 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS fafer STereh e Tl B
(i) wEEw
(i) TEEW
(1) SUFwhaT 9T
(iv) =R

Options :
1.1
2.2
3.3
4.4

Language 11
Section Id : 9533576177
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335710751
Question Shuffling Allowed : Yes

Question Id : 953357178915 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension



Directions: Read the passage given below and answer the questions by
choosing the correct/ most appropriate options.

When I was a boy in Dehra, there was a mango grove just opposite the
bungalow. It belonged to someone called Seth Govind Ram (may his soul
rest in peace) , and, during the mango season, it was fiercely guarded by
a giant of a man called Phambiri. All my efforts to get into the grove
were repulsed, and on one occasion I received a mild lathi-blow on my
backside.

‘I just wanted to climb the tree’ I pleaded.

‘Come back when the mango season is over’ said Phambiri with a
vicious smile copied from a filmi villain.

And then I discovered that he was an ex-wrestler, that he had been a
champion in his youth, and had even thrown the great King Kong, a
famous wrestler from about forty vears ago. (I did not know at the time
that King Kong, in his bad years. was constantly being thrown out of the
ring.) So, whenever I passed the grove and saw Phambiri, T would remark
on his great strength, his superb condition (going to fat, really) . his
muscles like cricket balls, and his bull-like neck and shoulders.
Gradually he warmed to me, and began to tell me of his exploits. I
acclaimed them. Then he showed me feats of strength, like picking up
rocks and hurling them across the road. I applauded. Before long, he had
invited me into the mango grove. and by the end of the week I could
have all the mangoes I wanted. The guardian of the grove actually
pressed them upon me.

Sub questions

Question Number : 121 Question Id : 953357178916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The man who guarded the mango grove was
1. looked like a giant.

very persuasive

armed with a sling

very gentle

w1

&

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357178917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The mango grove was situated
1. on the outskirts of Dehra.
2. beyond Mussourie.
3. near Seth Govind Ram’s fields.
. just opposite the bungalow inhabited by the narrator.

'

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357178918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The guard’s attitude to the boy changed because the boy
1. was terrified.

turned obedient.

started behaving like a filmy villain.

. made him feel nice about himself.

Options :

1.1

2.2

3.3

4.4

w1

'

Question Number : 124 Question Id : 953357178919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The boy failed to get into the mango grove because
he was too fat to do so.

2. he did not know how to climb the wall.

3. he was timid.

4. he was scared of the monstrous guard.

=

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357178920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The word “exploits’ used in the passage means

1. acts of meanness.

2. acts of trickery.

3. acts of exploitation.

4. acts of heroism.
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357178921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words has the same meaning as the
word ‘acclaim’ as used in the passage?

exclaim

declaim

proclaim

praise

W =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357178922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which part of speech is the underlined word in the phrase
‘on my backside’ in the passage?
1. Noun
2. Adjective
3. Pronoun
Adverb
Options :
1.1
2.2
3.3
4.4

e

Question Number : 128 Question Id : 953357178923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of the following sentence contains an error?

He is not coming to the school
(a) (b)

for a week because he is unwell.
(c) (d)

. (d)
= (e}
. (a)
. (b)
Options :
1.1
2.2
3.3
4.4

b =

.

Question Id : 953357178915 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension



Directions: Read the passage given below and answer the questions by
choosing the correct/ most appropriate options.

When I was a boy in Dehra, there was a mango grove just opposite the
bungalow. It belonged to someone called Seth Govind Ram (may his soul
rest in peace) , and, during the mango season, it was fiercely guarded by
a giant of a man called Phambiri. All my efforts to get into the grove
were repulsed, and on one occasion I received a mild lathi-blow on my
backside.

‘I just wanted to climb the tree’ I pleaded.

‘Come back when the mango season is over’ said Phambiri with a
vicious smile copied from a filmi villain.

And then I discovered that he was an ex-wrestler, that he had been a
champion in his youth, and had even thrown the great King Kong, a
famous wrestler from about forty vears ago. (I did not know at the time
that King Kong, in his bad years. was constantly being thrown out of the
ring.) So, whenever I passed the grove and saw Phambiri, T would remark
on his great strength, his superb condition (going to fat, really) . his
muscles like cricket balls, and his bull-like neck and shoulders.
Gradually he warmed to me, and began to tell me of his exploits. I
acclaimed them. Then he showed me feats of strength, like picking up
rocks and hurling them across the road. I applauded. Before long, he had
invited me into the mango grove. and by the end of the week I could
have all the mangoes I wanted. The guardian of the grove actually
pressed them upon me.

Sub questions

Question Number : 121 Question Id : 953357178916 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The man who guarded the mango grove was
1. looked like a giant.

very persuasive

armed with a sling

very gentle

w1

&

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357178917 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The mango grove was situated
1. on the outskirts of Dehra.
2. beyond Mussourie.
3. near Seth Govind Ram’s fields.
. just opposite the bungalow inhabited by the narrator.

'

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 953357178918 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The guard’s attitude to the boy changed because the boy
1. was terrified.

turned obedient.

started behaving like a filmy villain.

. made him feel nice about himself.

Options :

1.1

2.2

3.3

4.4

w1

'

Question Number : 124 Question Id : 953357178919 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The boy failed to get into the mango grove because
he was too fat to do so.

2. he did not know how to climb the wall.

3. he was timid.

4. he was scared of the monstrous guard.

=

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 953357178920 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The word “exploits’ used in the passage means

1. acts of meanness.

2. acts of trickery.

3. acts of exploitation.

4. acts of heroism.
Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 953357178921 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following words has the same meaning as the
word ‘acclaim’ as used in the passage?

exclaim

declaim

proclaim

praise

W =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357178922 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which part of speech is the underlined word in the phrase
‘on my backside’ in the passage?
1. Noun
2. Adjective
3. Pronoun
Adverb
Options :
1.1
2.2
3.3
4.4

e

Question Number : 128 Question Id : 953357178923 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which part of the following sentence contains an error?

He is not coming to the school
(a) (b)

for a week because he is unwell.
(c) (d)

d P =

4.
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 95335710752
Question Shuffling Allowed : Yes

Question Id : 953357178924 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



Directions: Read the passage given below and answer the
questions by choosing the correct/most appropriate options.

Over the last few years, e-commerce has become an
indispensable part of the global retail framework. Like many
other industries, the retail landscape has undergone a substantial
transformation following the advent of the Internet, and thanks to
the ongoing digitalization of modern life, consumers from
virtually every country now profit from the perks of online
transactions. As Internet access and adoption are rapidly
increasing around the globe, the number of digital buyers
worldwide keeps climbing every year. According to the latest
calculations, e-commerce growth will accelerate even further in the
future.

Internet users can choose from various online platforms to
browse, compare, and purchase the items or services they need.
While some websites specifically target B2B (business-to-
business) clients, individual consumers are also presented with a
vast number of digital possibilities. As of 2020, online
marketplaces account for the largest share of online purchase
worldwide. ILeading the global ranking of online retail websites in
terms of traffic is Amazon. In terms of gross merchandise value
(GMV), Amazon ranks third behind Chinese competitors Taobao
and Tmall. Both platforms are operated by the Alibaba Group,
the leading online commerce provider in Asia.

One of the most visible trends in the world of e-commerce is
the unprecedented usage of mobile devices. As the adoption of
mobile devices is progressing at a rapid pace, especially in regions
that lack other digital infrastructure, mobile integration will
continue to shape the shopping experience of the future. M-
commerce is particularly popular across Asia, with South Korea
generating up to 65 percent of their total online transaction
volume via mobile traffic.

Sub questions

Question Number : 129 Question Id : 953357178925 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following statements:
A. E-commerce growth has reached its saturation point.
B. Consumers from a few countries stand to gain from
the perks of online transactions.

1. Ais true and B is false.
2. B istrue and A is false.
3. Both A and B are false.
4., Both A and B are true.

Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 953357178926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is not true according to the passage?
1. The traditional modes of doing business have

become a matter of the past.

Amazon leads the global ranking of online retail

websites in terms of traffic.

3. The arrival of computer has revolutionised the
methods of doing business.

4. The number of digital buyers keeps climbing every

[

Two years.
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 953357178927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The retail landscape has undergone a substantial change
because
1. every consumer in the world is using the digital
mode.
most consumers are techno savvy.
governments all over the world are trving to
popularise e-commerce.
4. the arrival of computer has revolutionised the
methods of doing business.

w 19

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 953357178928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What accounts for the increasing popularity of mobile
devices in certain regions of the world?

I. Ease of use

2. Lack of other digital infrastructure

3. Low cost of mobile devices

. Incentives by mobile phone manufacturers.

e

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357178929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not supported by evidence in the
passage?

l. Amazon ranks third in terms of gross merchandise.
Taobao is operated by Amazon.
Tmall is tryving hard to compete with Amazon.
Alibaba group is the leading commerce provider in
both Europe and Asia

w1

o



Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357178930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of following words is nearest in meaning to the word
‘advent” as used in the passage

1. departure

2. arrival

3. postponement
engagement

o

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357178931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the

following sentence?

Internet users can choose from various online platforms.
1. Pronoun
2. Conjunction
3. Preposition
4. noun

Options :

1.1

2.2

3.3

4.4

Question Id : 953357178924 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



Directions: Read the passage given below and answer the
questions by choosing the correct/most appropriate options.

Over the last few years, e-commerce has become an
indispensable part of the global retail framework. Like many
other industries, the retail landscape has undergone a substantial
transformation following the advent of the Internet, and thanks to
the ongoing digitalization of modern life, consumers from
virtually every country now profit from the perks of online
transactions. As Internet access and adoption are rapidly
increasing around the globe, the number of digital buyers
worldwide keeps climbing every year. According to the latest
calculations, e-commerce growth will accelerate even further in the
future.

Internet users can choose from various online platforms to
browse, compare, and purchase the items or services they need.
While some websites specifically target B2B (business-to-
business) clients, individual consumers are also presented with a
vast number of digital possibilities. As of 2020, online
marketplaces account for the largest share of online purchase
worldwide. ILeading the global ranking of online retail websites in
terms of traffic is Amazon. In terms of gross merchandise value
(GMV), Amazon ranks third behind Chinese competitors Taobao
and Tmall. Both platforms are operated by the Alibaba Group,
the leading online commerce provider in Asia.

One of the most visible trends in the world of e-commerce is
the unprecedented usage of mobile devices. As the adoption of
mobile devices is progressing at a rapid pace, especially in regions
that lack other digital infrastructure, mobile integration will
continue to shape the shopping experience of the future. M-
commerce is particularly popular across Asia, with South Korea
generating up to 65 percent of their total online transaction
volume via mobile traffic.

Sub questions

Question Number : 129 Question Id : 953357178925 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following statements:
A. E-commerce growth has reached its saturation point.
B. Consumers from a few countries stand to gain from
the perks of online transactions.

1. Ais true and B is false.
2. B istrue and A is false.
3. Both A and B are false.
4., Both A and B are true.

Options :

1.1

2.2

3.3

4.4

Question Number : 130 Question Id : 953357178926 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is not true according to the passage?
1. The traditional modes of doing business have

become a matter of the past.

Amazon leads the global ranking of online retail

websites in terms of traffic.

3. The arrival of computer has revolutionised the
methods of doing business.

4. The number of digital buyers keeps climbing every

[

Two years.
Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 953357178927 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The retail landscape has undergone a substantial change
because
1. every consumer in the world is using the digital
mode.
most consumers are techno savvy.
governments all over the world are trving to
popularise e-commerce.
4. the arrival of computer has revolutionised the
methods of doing business.

w 19

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 953357178928 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What accounts for the increasing popularity of mobile
devices in certain regions of the world?

I. Ease of use

2. Lack of other digital infrastructure

3. Low cost of mobile devices

. Incentives by mobile phone manufacturers.

e

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357178929 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is not supported by evidence in the
passage?

l. Amazon ranks third in terms of gross merchandise.
Taobao is operated by Amazon.
Tmall is tryving hard to compete with Amazon.
Alibaba group is the leading commerce provider in
both Europe and Asia

w1

o



Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357178930 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of following words is nearest in meaning to the word
‘advent” as used in the passage

1. departure

2. arrival

3. postponement
engagement

o

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 953357178931 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of speech is the underlined word in the

following sentence?

Internet users can choose from various online platforms.
1. Pronoun
2. Conjunction
3. Preposition
4. noun

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335710753
Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 953357178932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Interactions a teacher has with children of her class while they are engaged in an activity
1) help develop language and communication in contexts.
2) make the language learning burdensome while they are playing.
3) provide an authentic source of knowledge.
4) help children to learn their home language by playing with language
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 953357178932 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Interactions a teacher has with children of her class while they are engaged in an activity
1) help develop language and communication in contexts.
2) make the language learning burdensome while they are playving.
3) provide an authentic source of knowledge.
4) help children to learn their home language by playing with language
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 953357178933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If children hear two languages spoken around them, this exposure to two languages will
1) place children at a disadvantage.
2) place children at an advantage.
3) not make any difference.
4) interfere mutually with the other one.
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 953357178933 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If children hear two languages spoken around them, this exposure to two languages will
1) place children at a disadvantage.
2) place children at an advantage.
3) not make any difference.
4) interfere mutually with the other one.
Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357178934 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most important aspect of children's language development is
1) exposure to that language
2) drill and practice in that language
3) correcting the mistakes
4) imitating the adults

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 953357178934 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The most important aspect of children's language development is
1) exposure to that language
2) drill and practice in that language
3) correcting the mistakes
4) imitating the adults

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357178935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Scribbling is an important step in learning to write, because children are trving to
1) produce letters and words right from the day they pick pen or pencil
2) make meaning from the marks for them.
3) spend some time in reading, writing and numeracy
4) imitate the adults
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357178935 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Scribbling is an important step in learning to write, because children are trying to
1) produce letters and words right from the day they pick pen or pencil
2) make meaning from the marks for them.
3) spend some time in reading, writing and numeracy
4) imitate the adults
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357178936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is correct?
1) Handwriting is same as writing.
2) Writing is an expression of ideas.
3) Handwriting is about putting words down on paper.
4) Writing is a product.
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 953357178936 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following statements is correct?
1) Handwriting is same as writing.
2) Writing is an expression of ideas.
3) Handwriting is about putting words down on paper.
4) Writing is a product.
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357178937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Building hand—eye coordination will lead to develop skill.
1) listening
2) speaking
3) handwriting
4) reading

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 953357178937 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Building hand—eye coordination will lead to develop skill.
1) listening
2) speaking
3) handwriting
4) reading

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357178938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At the foundational stage learners should be taught in school in their home language as

1) it leads to their participation in the teaching-learning process
2) it is less important to learn a school language
3) it communicates new knowledge in school language
4) it reinforces silence in the classrooms
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 953357178938 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



At the foundational stage learners should be taught in school in their home language as

1) it leads to their participation in the teaching-learning process
2) itis less important to learn a school language
3) it communicates new knowledge in school language
4) it reinforces silence in the classrooms
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357178939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Using the learners” home language at the start of schooling

1) increases the burden on teachers.
2) is more natural and stressful for all.
3) always leads to improved learning objectives.
4) promotes a smooth transition from home to school.
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 953357178939 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Using the learners’ home language at the start of schooling

1) increases the burden on teachers.
2) is more natural and stressful for all.
3) always leads to improved learning objectives.
4) promotes a smooth transition from home to school.
Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357178940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the main purpose of summative assessment?

1) To improve achievement
2) To gather data on student understanding at the beginning of a unit of study.
3) To evaluate the current level of student understanding in order to improve teaching and student learning.
4) To measure or audit attainment and establish quality.
Options :
1.1
2.2
3.3
4.4



Question Number : 144 Question Id : 953357178940 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the main purpose of summative assessment?

1) To improve achievement
2) To gather data on student understanding at the beginning of a unit of study.
3) To evaluate the current level of student understanding in order to improve teaching and student learning.
4) To measure or audit attainment and establish quality.
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357178941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To use the language effectively and appropriately in a variety of situations, we need to

1) know the rules of grammar.
2) know the definitions of each grammatical item.
3) pay systematic attention to grammar.
4) focus on the use of grammar in a context.
Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 953357178941 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To use the language effectively and appropriately in a variety of situations, we need to

1) know the rules of grammar.
2) know the definitions of each grammatical item.
3) pay systematic attention to grammar.
4) focus on the use of grammar in a context.
Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 953357178942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is NOT true about a language classroom?
1) A noisy class means that the class has involved learners in learning.
2) A disciplined class is one where learners sit quietly and teacher teaches well.
3) Think, pair, share are the ways to engage the whole class in an activity.
4) A teacher makes learners to role play a story.
Options :
1.1
2.2

3.3
4.4



Question Number : 146 Question Id : 953357178942 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is NOT true about a language classroom?
1) A noisy class means that the class has involved learners in learning.
2) A disciplined class is one where learners sit quietly and teacher teaches well.
3) Think, pair, share are the ways to engage the whole class in an activity.
4) A teacher makes learners to role play a story.
Options :
1.1
2.2

3.3
4.4

Question Number : 147 Question Id : 953357178943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The grammar tasks are

1) to be contextualised

2) to be life-oriented

3) fully form focused

4) memory focused
Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357178943 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The grammar tasks are

1) to be contextualised

2) to be life-oriented

3) fully form focused

4) memory focused
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 953357178944 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following was suggested by Noam Chomsky?
1) There is no fundamental ability of language when a child is born.
2) Children acquire language in different ways and at different rates depending on the culture into which they are
born
3) There is an innate human ability to acquire language
4) Children learn language as a product of positive reinforcement.
Options :
1.1
2.2
3.3
4.4
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Question Number : 149 Question Id : 953357178945 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Inductive method proceeds from
1) heavy materials to light ones

2) difficult to different
3) familiar to unfamiliar
4) abstract to concrete

Options :
1.1
2.2
3.3
4.4
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Question Number : 150 Question Id : 953357178946 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher is asking students to write letters of alphabet with the help of their fingers in the sand tray. The objective of
this activity is to
1) promote playful atmosphere in the class.
2) make them understand the difference between clean and dirty hands.
3) strengthen their fine motor skills.
4) divert their attention from home sickness.

Options :
1.1
2.2
3.3
4.4
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